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Time: 2.30 Hours] [Maximum Marks: 50
NOTES:

i) Attempt all questions. Attempt any two parts of each question.

i) Students are advised to specially check the Numerical Data of question paper in both versions. If there
is any difference in Hindi Translation of any question, the students should answer the question according to
the English version.

i)

Use of pager and Mobile Phone by the students is not allowed.

Explain Hook’s law with two elastic constants. [5]
A wire of length 2 m and radius .5 mm is compressed by .3 mm on loading. If the young modulus of

its material is 12.5 x 10*® N/m?.Find the compressive force. [5]
Explain stress strain curve for mild steel. [5]
define factor of safety. [5]
Explain moment of inertia. [5]
Write the moment of inertia formula for regular three figures about x axis. [5]

The cross section of a column is circular of 2cm diameter. it is 4m long and both ends are fixed. Calculate

Euler’s crippling load. E=2.1 x 10° N/mm?. [5]
Write the difference between column and struts. [5]
What are the assumptions for the pure bending? [5]

A moment of 5Kn-m is acting on a beam. Calculate maximum bending stress at the beam if width and depth of

the beam 100mm and 200mm. [5]
What is radius of gyration? [5]
What is elastic curve and write the equation of this. [5]
Explain longitudinal and circumferential stress. [5]
Explain the power transmission in the shaft. [5]
How many types of load. [5]
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&l STeIeR FEURieh! & |1 geh o Toiara &t sarear Y| [5]
2 Hex i aT$ 3R .5 e e &1 v ar & e W .3 AT gany adifsd grar 81 afe s
gere T JieT AT 12.5 x 10'° N/m? § aF UTSeT 5ol JATd Il | [5]
ATSes Tl & ToIT Tideer [aepfel ash & samrear 1| [5]
GR&TT oh ShReh T TRATVA A | [5]
ST 3TEYT Y FASTSY | [5]
AT olieT 3mepferat o foIw STsea 3TeET ¥F AT x 3787 & 9Ra: | [5]
Teh T3 T 3]IEY hIC 2 HT I I IR & | Tg 4 FHIeT ofel § 3R el R R 8| ger ok

JehfelaT HI T I0TAT | E=2.1 x 10° N/mm?| [5]
Sicld IR Teed & 81 3R g | [5]
G gl & Tl AT ATV 82

SKn-m & Sl &1 Teh JTEUT Ueh &ReT T I Y (8T & | A &Rt r =iisrg 3R arewrs 100 fAA

3 200 TAAT 8 Y o IR 31THAH Sfehet dTel AT T AVTAT HY | [5]
qREHUT T AT FIT 2 [5]
JcITEY Toh FT & dAT SHT JHIE T [ T@T| [5]
Iejeed AR AR TeAa Sl FASS| [5]
QI H HHLY TAUT bl GHSTSY | [5]
A Tohdol YT T BIAT 82 [5]



